PANDUIT Surge Suppressor Grounding Kit

INSTALLATION INSTRUCTIONS T-PMPI-271-PC

© PANDUIT Corp. 2006

\
@
S
99/

@:@:-://::@1

Surge Suppressor
Jumper

¥ -

M6 Screw

i -

12-24 Screw

3 |

M5 Screw

¥ -

10-32 Screw

AntiOx

IOOODBDOOD/

0 00 ©0 00 O

Cleaning Pad

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 1 of 2 Rev. 03



INSTALLATION INSTRUCTIONS T-PMPI-271-PC

>

o o0 o0 0 o o

-
L~

N
\
\
o

o

P P PP P BB--B

3.0 Ibf-ft
(4 Nem)

AT
R
\\;}g\‘

>

—

EER)
AL
R
KL R

SR
X \‘:

\POOO

3 ~,
- o
#’ ~
-’ N,
e N,
’
’
4
II AY
’ \
/ Q
1 \
1
/ q
1
1 1
: 1
1
1
. o
1 1
\‘ 1
\ i}
\\ II
\ /|
\ 4 Q
\
\\
AN
N,
~,
RS 4

\\‘
N,
N,
\,
\‘

OOOOOOX\

N
0
0
\
S

agtteg
2010000
o
LR E
oot eo 000,00 o
%

l,,‘l, 'll,‘l, 'l,,;ll/l
00 0 0 00
'l,,ll,,;
iores
0ooltg

7%
000,200,2%
r0lteg)
ootroel

5
X
R
NN

3.0 Ibf-ft
(4 Nem)

S
AR
S =3
QR ey
R e
G

‘17»
(s
—

For Instructions in Local Languages
and Technical Support:

http://www.panduit.com/resources/install_maintain.asp

@
©J PaNDUIT

www.panduit.com

E-mail:
cs @panduit.com
Fax:
(815)485-5839

Page 2 of 2

Rev. 03



